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1.

2.

3.

A T
GENERAL KNOWLEDGE

AT Shifd R FISHT <1 g&d 3239 fforfiad o & si9-w1 8 7

(A) STTTUehTTEh ST | femdt o TR sl FredTied ST

(B) 3TTTerehifies st & IS <l TedTiEd HEAT

(C) YR | &t WTWI3T sl s@raT <Al

(D) f&=<t & iRl = g™ <1

Which of the following is the main objective of the Rajbhasha Kirti Puraskar Yojana ?

(A) To encourage the use of Hindi in official work

(B)

(C) To Promote regional languages in India
)

(D
3Icqd UIed forg o grey fomam ¢

In which year was the UTSAYV portal launched ?

To encourage English in official work

To honour Hindi poets

(A) 2024 (B) 2023 (C) 2020 (D) 2022
T — 1 BT — 1 3 T gafe S g gfE % A Ry T e & W g g |
T -1 A -1l
() (&)
a. 3Rfag fsm . g g 3% e g
b. fertor <ETs II. g STefew 31 ofg
c. I T lll. § SBT8L TER
d. <. g, TrEte IV. 31 T %I ®e
%<
(A) a=1l,b=1lll,c=1l,d=-1V B) a-lll,b-I,c—-1,d-1IV
(C) a-Ill,b—-IV,c—1I,d-1ll (D) a—1IV,b—-Lc—-1l,d-ll
Match List — | with List — Il and select the correct answer from the code given below the lists.
List -1 List -1l
(Author) (Book)
a. Arwind Adiga I. The God of Small Things
b. Kiran Desai Il. The Inheritance of Loss
c. Arundhati Roy [ll. The White Tiger
d. V. S. Naipaul IV. In a Free State
Code :
(A) a=1l,b=1lll,c=1l,d=-1V B) a-lll,b-I,c—-1,d-1IV
(C) a-ll,b—-IV,c—1I,d-1ll (D) a-1IV,b—-1Lc—1l,d-ll
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4. HE-H IRAT H, 2024 H F. 20 TG HUS I SR Yo ThU B i dTel! IR T8el!
HEHT & TR ?

Which Indian company became the first Indian company to achieve a market capitalization of Rs. 20 lakh

crore in 2024 ?

(A) Reliance Industries
(B) T.C.S.

(C) HDFC Bank

(D) Adani Enterprises

5. Tore GueER 3US % Ieared & fore avi wfag # ¢

(A) ST (B) Beft

(C) <Tegd (D) af=n
Nagaur is famous for the production of which aromatic crop ?

(A) Cumin seeds (B) Fenugreek
(C) Garlic (D) Coriander

6. WRA 1 YgaTl A:JAIST EIEISS Uehe &fl-| Tl femam o
(A) 31 TcESX 2024
(B) 04 fegs 2024
(C) 04 faasr 2024
(D) 24 3T 2024

India’s first reusable hybrid rocket Rhumi-I was launched on
(A) December 31, 2024
(B) December 04, 2024
(C) September 04, 2024

(D) August 24, 2024



s

7.

8.

T — | 1 G - 1| o Ty GHTeTd Hifo qem i & = U 7T e & T8 W g |

gt -1 T -1l

(7 forgatererera) (¥T)
a. TS o fovafaeme . I
b. =aTSt GUTYEE S o favafaeme™ II. hIcTshTdT
c. UM HEER g fereaferamers 1. feremagg
d. 9. geranrel vt g favafosme™ IV. TR
%c :
(A) a—IV,b—Ill,c—1l,d—1 B) a—1lll,b—1Il,c—IV,d—I
(C) a-1ll,b—1,c—IV,d—Ill (D) a—=IV,b—1Il,c—1,d—Ill

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1 List -1l
(Open University) (Place)

a. Global Open University I. Kota
b. Netaji Subhashchandra Bose Il. Kolkata

Open University

c. Vardhman Mahaveer lll. Bilaspur
Open University

d. Pt. Sundarlal Sharma IV. Dimapur

Open University

Code :
(A) a—IV,b-Ill,c—1l,d-1 B) a-IllLb=Il,c—IV,d-1I
(C) a=ll,b=1,c=1IVv,d-1l (D) a=1V,b=1l,c=1I,d-1l

T4 § i e o1t SA=ies iRt gid A8 2 7

(A) TREm (B) ®ICH

(C) "M @A (D) enfifer T

Which one of the following is not a source of informal agency of education ?

(A) The family (B) The community

(C) General games (D) Religious institutions
-4-
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9.

10.

11 =l T ITRT § TR ¥ Y& hich SHAEId hIfT |
|. IS TERT HT T
I, smey fafy
I, 3N & I
IV. 3T(ehel T TUE
%< :
(A) L, Iv, B) I 1v, 1,1
(C) 1L, v, I (D) L, v
Arrange the following from beginning in a sequence.
I. Selection of research problem
Il. Method of research
[ll. Objective of research

IV. Data collection
Choose the correct answer from the code given below :

Code :
(A) LI v, B) I, Iv, 1,1
(C) 1L 1,1V, I (D) L1, v

= Q1 e ¢ FSH & T 1 AL (A) T G S FHRU (R) HT TR

gaﬁm:@.aﬁ.w.@. T IR YuTett @ 8 Iid TR < T waerd 3 2015 H IE
T |

THROT (R) : U378, 37T, 61 3299 (1= HISUS] & YR T AR W § I=a e geami i
reaer 3R aRGsl Jedehd YEH T 7 |

= feu U e @ T W g

? -

(A) (A) 3T (R) 1 & & 3R (R) , (A) Sl Tl =& BTl B

(B) (A) 3R (R) <HI ¥ & T (R) , (A) 1 W&l AT el Haell B

(C) (A) & 8 W (R) Terd @

(D) (A) TTetd @ W (R) € @

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : The NIRF is a ranking system introduced by the Ministry of Education,
Govt. of India in 2015.

Reason (R) : NIRF aims to provide a fair and transparent assessment of higher education
institution across India based on various parameters.

Select the correct answer from the code given below :
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A)is false but (R) is true
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11.

12.

13.

14.

veme # foT SeT uArfetfead o Y@ U @ 7
a. ST & JHR 9 TR W@ |

b. TG TitoTHt <t wfersramoft S |

c. TTSX L& FEHT |

d. TR R T | g |

il fow e g2 # @ wEl I g

He

(A) I a, b, ¢ (B) 9 a, ¢, d
(C) %9 ¢, b (D) e b, d

What are the major uses of Big Data Analytics in governance ?
a. Tracking the spread of diseases.

b. Predicting election outcomes.

c. Enhancing cyber security.

d. Increasing govt. tax revenue.

Choose the correct answer from the code given below :

Code :

(A) a, b, conly (B) a, c,donly

(C) c,bonly (D) b, donly

S g wfduTied Tt Sifereh e | frmfarfaa o & v aftfera 78 2 ¢

(A) =g (B) TSR (C) Tergetwm (D) STIEAT

Which of the following is not included in the cognitive educational objective proposed by Bloom ?

(A) Comprehension (B) Application (C) Analysis (D) Organization

fraferfiga § 9 H-91 t 31E8.H1.8. yuredl o1 ek T8 & 7
(A) BTEAT (B) TTHRR (C) g=1 (D) RIS T

Which of the following is not a component of an ICT system ?

(A) Hardware (B) Software (C) Information (D) Biometric sensors
IR ! THI ST I5eh 0T o T W i Al 7, HEA 8
(A) 3R 3 T (B) M T TH (© fomanwa (D) I

The memory of the computer which is programmed at the time of its manufacturing is called as

(A) ROM (B) RAM (C) PROM (D) EPROM



15.

16.

17.

18.

= 4 & ®1 T HhHW gigrar (TITE) T A& 7 7

(A) T ™ RR
(C) FARE

(B) SIfer
(D) = S

Which one of the following is not an Artificial Intelligence(Al) tool ?

(A) Google Play Store
(C) Claude

frferfad & & i geT Tgu 1 HR R 7

(A) 3NN (B) TS
Which of the following is the cause of soil pollution ?
(A) Ozone (B) Aerosol

(A) IS T B
(C) UT=H a1 h

“Limbic system” is part of
(A) Reproductive system
(C) Digestive system

(B) Gemini
(D) Chat GPT

(C) Tftg-gut

(C) Acid-rain

(B) dfest a1 &1
(D) IcESH a4 i

(B) Nervous system
(D) Excretory system

far=feiflad ° 9 o9 WG § 31 fedsw 2024 T THEL &I & 7

a. SREU I=SE THINT
b. TG S

c. W\Wﬁ‘{m
d. FedHR T 3
= feu U e ¥ @ e W g

He:
(A) haet a IR b

(C) a,b,c3Md

Which of the following is a Ramsar site in India as on December 31, 2024 ?

a. Bakhira Wildlife Sanctuary
b. Ramgarh Lake

c. Sundarban Wetland

d. Sultanpur National Park

(B) e b, ¢ IR d
(D) Had a IR ¢

Choose the correct answer from the code given below :

Code :
(A) aandb only
(C) a,b,candd

(B) b, candd only
(D) aand conly

(D) ST

(D) Smog
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19.

20.

21.

22.

23.

24.

O g fera §

(A) 3TUeHH H B) frepem & (C) w&Tga (D) fufterr 4
‘Barren’ Island is situated in

(A) Andaman (B) Nicobar (C) Lakshadweep (D) Minicoy

ST STl GEAM, gl <l TToT e g3 off 7

In which year Atomic Energy Institute, Trombay was established ?

(A) 1948 (B) 1950 (C) 1952 (D) 1954
= gyl Tt we TSl W AW % 9ie fed T # | Tl Sl 1 g i |
STgtH T T

1. Y& ER - TEmew

2. QX deetvg - LKy

3. Ul AT — T

4. TR - I

(A) 178 2 &8l & (B) 114 4 & &
(C) 2Td 3 Wl & (D) 2T 4 W&l B

Ramsar sites and name of states paired below. Choose the correct pair.

Ramsar Site State

1. Sakya Sagar — Madhya Pradesh

2. Sirpur Wetland —  Tripura

3. Pala Wetland —  Meghalaya

4. Sur Sarovar —  Uttar Pradesh

(A) 1 and 2 are correct (B) 1 and 4 are correct
(C) 2 and 3 are correct (D) 2 and 4 are correct
form afirerE © hrefiere wa Wil FT T 3 A1 ¥ Ioorg firerar 8 7

(A) ST yifed (B) V@It wIfEd
(C) 3re FfrTE (D) fradt = e

In which inscription both Kalidas and Bharavi are mentioned by their names ?

(A) Prayag Prashasti (B) Aihole Prashasti
(C) Ayodhya Inscription (D) Bhitari Pillar Inscription
cfequr ashient § I fogie o a9 el ot 3w ot A1 § -t et < mf oft 7
(A) HAA (B) TS (C) "= TSR (D) "SR
Which rank was given to Gandhiji in British Army at the time of Julu Revolt in South Africa ?
(A) Colonel (B) Sergeant (C) Sergeant Major (D) Major
‘SremET foRg v § fordt Wt oft
(A) T (B) Tl (€) 3rwsht (D) 35
In which language was ‘Babarnama’ written ?
(A) Persian (B) Turkish (C) Arabic (D) Urdu



25.

26.

27.

28.

29.

30.

ST ATTereht %1 STEUROT I I 53

(A) el o (B) WRd T

(C) TgH TsT Fufeht o (D) IATEE fohren
The concept of Public Interest Litigation was originated in

(A) Australia (B) India

(C) United States of America (D) United Kingdom (U.K.)
HIIGT AT 1 YN TR T el TR g7 o ?

(A) 16 3T 1947 (B) 26 SHeRl 1947

(C) 09 fedsX 1946 (D) 26 9K 1946
When was the first session of Constitutional Assembly held ?

(A) 16t August 1947 (B) 26 January 1947
(C) 09" December 1946 (D) 26t November 1946

IRd & Hfau™ | freafafea § @ -1 31w 99wk TaiiisR § q6fid 8 7
(A) IR 324 (B) 3T=8¢ 325 (C) =T 326 (D) 3T<Bg 327

Which one of the following Articles of Constitution of India deals with adult suffrage ?

(A) Article 324 (B) Article 325 (C) Article 326 (D) Article 327
Iraa IcdTe B IR i fova § -1 W 8 7

(A) (8) fa () el (D) =Igd
What is the rank of India in the world in rice production ?

(A) 1st (B) ond (C) 3rd (D) 4th
w3, (P.L.I.) ThH frd s & @ wefud T8 7 7

(A) TETE fafamior (B) ITEHIETESA I

(C) Tufercar Susptor (D) 39U | & g &l

PLI scheme is not related to which one of the following ?

(A) Mobile manufacturing (B) Automobile industry

(C) Medical devices (D) None of the above

A § TaAd] o TTETd H IR hl AT L 1 TAHH L9 o7

(A) YfrER fepami ot ofi a1 g (B) 3= HH ! S@IET &

(C) Y TR I TcHTlEd AT (D) Tt v B i w1 Fsfieto
The primary objective of land reform in India implemented in the Post Independence was
(A) Redistribution of land to landless farmer (B) To promote real estate

(C) Promotion of agro industries (D) Privatization of agricultural land for cultivation
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31.

32.

33.

YT

PHILOSOPHY

Iy guF % AR Ieaa AEifieh (R-Tm=T) 3

(A) gl (B) T

(C) wd (D) e

The higher universal (Para-Samanya), according to Vai\sesika Philosophy is

(A) Existence (B) Attributeness

(C) Actionhood (D) Substancehood

TR o IER 3gd G % [0 ‘T Aedd i 2 ?

(A) g (B) THTIS (C) =i (D) |RA

Which of the following is the ‘Prime Opponent’ of Advaita Vedanta, according to éahkarabarya ?

(A) Buddhist (B) Ramanuja (C) Carvaka (D) Sarnkhya
e g9 % ged # fmfafea sl w famm Hifve |

a. Terepra =it 2 |

b. Tereh@ TuESH § |

c. foohra TRtE 7 |

d. o =519 2 |

T fou o foepedt # @ T I g

(A) FIH b, ¢ (B) e a, d

(C) %ad b, c, d (D) e b, d

Consider the following regarding the Samkhya Philosophy.
a. Evolution is mechanical
b. Evolution is purposive
c. Evolution is linear

d. Evolution is circular
Choose the correct answers from the options given below :

(A) b, conly (B) a, donly
(C) b,c,donly (D) b, d, only

-10-
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34.

35.

EERSIECIATE-R
(A) HegaTe i figrd (B) S=edre 1 fagr
() Fedeag =1 fergra (D) &G 1 fagTd
The Jain doctrine of Syadvada is
(A) A Principle of Scepticism (B) A Principle of Miditism
(C) A Principle of Absolutism (D) A Principle of Relativism
Tt — | I g - 1% w1 gaferd Shife |
- | g - i

a. AR fagmeTg |. STEqEATTETg

b. TG II. 3TEATiaTe

c. =™ IIl. SATeTRETITETS

d. HHmET (TR V. FAFATT(qETE
= feu U e § @ e W g
(A) a—I b-1ll, c—1IV, d-ll
B) a-IIl, b-l, c—1v, d-l
(C) a—1IV, b-1Il, c—N, d-I
(D) a-1l, b-1IV, c—I, d-1I

Match List — I with List — II.

List -1 List—1I
a. Yogactara Vijnanavada I. Asatkhyativada
b. Sunyavada Il. Akhyativada
c. Nyaya M. Atmakhyétivéda
d. Mimamsa (Prabhakar) IV. Anyathakhyativada

Choose the correct answers from the code given below :

(A a=1I, b=, c—Iv, d-Il
B) a=lll, b-=I, c—Iv, d-Il
(C) a=1IV, b—1Il, c—Ill, d-I
(D) a=1ll, b-1vV, c—I, d-lll

-11-
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36.

37.

38.

TRt o Hewl # frferfiad semt w fomm Hif |

. dera | Yerde wd % foTy Sueer § |

b. I& TR W sy for@n 7 |

c. 98 SEIINUTHATE 1 THI T & |

d. 9 e <l T % T H AT o o B TeR Fd B |

Q

et few e fepedt # @ W& s R
(A) e aTd b EEl & (B) ®hadl b TS ¢ Tl B
(C) *hael bTd d T & (D) ¥ aTd d HE &

Consider the following statements regarding éankara.
a. He is responsible for the Bhedabheda view in Vedanta.
b. He wrote commentary on Prasthanatrayi.
¢. He maintains Brahmaparinamavada.
d. He accepts the principle of non-contradiction as the test of truth.

Choose the correct answers from the options given below :
(A) aand b only true (B) b andc only true
(C) banddonly true (D) aandd only true

HHf=ren! o STER Ffafiad § § S a2 7

NEESAER (B) hael STl ST

(C) et fax wel e St (D) 3T | T HIg Tk

Which of the following is true according to the Sautrantikas ?

(A) C\)itta only (B) External world only

(©) (\Ditta as well as external world only (D) None of the above

“ferea-wf=r’ 1 fergia waifera 2

(A) . =t yemd @ (B) fadesre &

(C) =Ty SR & (D) TLTFIH H

Principle of ‘Cosmic Error’ is related to

(A) K. C. Bhattacharya (B) Vivekananda

(C) Rabindra Nath Tagore (D) Radhakrishnan
-12-
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39.

40.

41.

42.

. ®. vz &% IFER Sgif~eh I % W 7

According to K. C. Bhattacharya, grades of theoretic consciousness are

(A) 6 (B) 5 C) 4 (D) 3
“gfee firg 1 TR & 7 |7 ¥% fhue ®eH 7 7
(A) TSI TEH (B) . Fmfd w1
(C) faeerg &1 (D) it 3nfdg &
“Creation is the ecstatic dance of Shiva.” This statement belongs to whom ?
(A) Ramkrishna Paramhansa (B) J. Krishnamurti
(C) Vivekananda (D) Sri Aurobindo
meft o SAfEET Tet foami o ded § SH-81 HUH FEId & 8§ ?
(A) T IR (B) 1T WA ! AT SaUT @
(C) T e Afcrh wroft 7 (D) IRl shi 3TueT f&ar Ised 8
With reference to Gandhi’s concept of non-violence, which statement is not consistent ?
(A) Truthis God (B) End justifies the means
(C) Man is an ethical being (D) Violence is better than cowardice
T — | 1 G - 115 Ty A A |
Tl - | Tt -

a. faa®me 1. g Trefiom s1f® B4

b. THTHH II. = A

c. MR NI, g 3T 37 fofem

d. et Iv. g fepadt 3176 %Y
f9 feu e fereredt & & wE) IR AT ;
(A) a=1IV, b-=I, c=l, d-ll
B) a=1Il, b-1V, c—I, d—1l
(C) a=1Iv, b-1Ill, c=1, d-I
(D) a=1M, b-I, c¢c=I, d-=IV
Match List — | with List — II.

List -1 List -1l

a. Vivekananda [. The Religion of Man

b. Radhakrishnan II. Gyan Yog

c. Tagore [ll. The Art of Living

d. Gandhi IV. The Recovery of Faith
Choose the correct answer from the codes given below :
(A) a=1IV, b-=I, c=ll, d-=l
B) a-=1l, b-1V, c—I, d—1ll
(C) a=1Iv, b-1Ill, c-=1Il, d-I
(D) a=1M, b-I, c¢c=I, d-IV

13- 39
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43.

44,

45.

46.

“HTIT ST <! SATEAT 1 I3 (HG1d 781 @, UG A I Th qeATH [Tow0l & | I8 e

Tafa g

(A) T @ (B) TR & (C) *fi IWfae = (D) TUTHH
“Maya is not a principle to explain the world, but it is a factual statement regarding the world.” This statement

belongs to

(A) Vivekananda (B) Tagore (C) Sri Aurobindo (D) Radhakrishnan

THTFSH % TR T 1 TSt & ehell 2

. ¥f5F Fgwa A

. Sifgh @9 @

. g |

d. g Ugd o

= feu mu fashedt & @ W 3w T

(A) HaA a, bTT dH (B) et a,cTd d T
(C) %ad a,bTd ¢l (D) %A b, cTI d T

According to Radhakrishnan, knowledge can be obtained by

O T o

a. Sense experience
b. Intellectual cognition
c. Intuitive apprehension

d. Dialectical method

Choose the correct answer from the options given below :

(A) a,banddonly (B) a, candd only

(C) a,bandconly (D) b, canddonly

AR ST, Tl o ST shl 3TIHid 2 |7 I8 B fohad feam 2 7

(A) TRETSES (B) &l (C) [Tsh (D) UTSTTRE
“Empirical world is the imitation of the world of ideas.” This statement is given by whom ?

(A) Parmenides (B) Plato (C) Pyrrho (D) Pythagoras
‘TG Tt & g’ w1 Wued gevem fohed feam ?

(A) T (B) bt (C) e (D) T

‘The theory of innate ideas’ was refuted for the first time by

(A) DeScartes (B) Berkeley (C) Locke (D) Spinoza
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47.

48.

ATsferest & fagupsti & fawar o o wiierd 78 8

(A) Taqu TenEEH Bd @ (B) Terey] siadere &
(©) forqy smenfars aw 2 (D) ey wgeran & &
Which of the following is not acceptable to Leibnitz regarding monads ?
(A) Monads are windowless (B) Monads interact with each-other
(C) Monads are spiritual forces (D) Plurality of monads
T — | 1 F - 11 Ty guferd L |
A -1 g -1l
(forgia) (areifen)
a. HaEEg |. Sehot
RITIERIEEI II. STk
c. 3TCHTA Y=g I, Arsforest
d. difereh sgeral IV. BH
= feu T faehel 9 & 98 W AT
(A) a=IV, b-1ll, c—1I, d-1ll
B) a-Il, b-1V, c-I, d—1lll
(C) a=1l, b-1l, c—1Iv, d-I
(D) a—1ll, b-1ll, c—=1, d=1IV

Match List — | with List — 1.

List -1 List -1l
(Theories) (Philosophers)
a. Sensationalism |. Berkeley
b. Representationism Il. Locke
c. Subjective Idealism lll. Leibnitz
d. Metaphysical Pluralism IV. Hume

Choose the correct answer from the code given below :

(A a=IV, b-1Il, c—1, d—1l
B) a=Il, b-IV, c—I, d-Il
(C) a=1l, b=, c—=IV, d-I
D) a-1lll, b-ll, c—I, d=IV
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49.

50.

= fou T Q wUAl H W TH R AR (A) 3R G HI T (R) HT TR |
AfRA (A) : 3T hed 8 oF ‘T ieaEy 77 |
T (R) : o WA 8 fop feram 3t = <t shifeat wh & § |
Wmﬁ%mﬁﬁmﬁf@aﬁaﬁﬁ@wﬁwwwgﬁz
(A) (A) 3T (R) gHT T& & 37 (R), (A) I TE =TT 7
(B) R)atﬁaﬁ%tr@(ﬂ ), (A) 1 TE =TT T8 B

) (A) Hﬁ%,tr@ ) A B
(D) (A) T B, T (R) F& B

Given below are two statements, one is labeled as Assertion (A) and other is labeled as Reason (R).

Assertion (A) : Hegel asserts that ‘Real is Rational.’

Reason (R) : He maintains that the categories of reality and thought are the same.
In the light of the above choose the correct answer from the options given below :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(C) (A) is the correct but (R) is not correct

(D) (A) is not correct but (R) is correct

Tl — | 1 G - 11 Ty gAfAd A |

g -1 g -
a. A% | T 99T 7, 99 & Tq 8
b. A II. T eIl &
c. B . 79 Ueh il qfgam @
d. sehat V. dTfeheh 3TULETE
o fou o Rt # & T SR R -
(A) a—Ill, b-l, c—1v, d-l
(B) a —II b—-Ill, c—-1V, d-I
(C) a b-1, c—Il, d-1l
(D) a —III b-1V, c-1, d—Ii
Match List — I with List — II.
List -1 List -1l
a. Locke I. Real is rational and rational is real
b. Russell II. Esse est percipi
c. Hegel [ll. Mind is a Tabula Rasa
d. Berkeley IV. Logical Atomism
Choose the correct answers from the code given below :
(A) a—IIl, b-l, c—1v, d-l
B) a=1Il, b-Ill, c-1vV, d-I
(C) a b-1, c—Il, d-1l
(D) a—III b-1V, c-1, d—Ii
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51.

52.

53.

54.

55.

‘UL T 61 ARY IS H BT g, fohq 3Heh! Icata Iya ¥ & gt |

I HoH FERIG §
(A) T T (B) wsfoiest @
(C) 2§ (D) &t °

“All knowledge begins from experience, but its origin is not from experience.”

Above mentioned statement is related to

(A) Locke (B) Leibnitz

(C) Kant (D) Hegel
Frfefiad & & s Tt (Sre0) RgitereT & w7 2 7

(A) fatfereeTd 312t o1 g (B) Wt @t 1 femm

(C) Toft vt =1 b (D) T W 3menia 3 fogia
Which of the following is not related to later Wittgenstein ?

(A) Representational theory of meaning (B) ldea of language games

(C) Private language argument (D) Meaning depends on its uses
“g@A T % T T 2, R e A wied sead o fean |7 aw forment B R 7
(A) HEAT T (B) WA &I

(C) forgiieers &1 (D) forersh 1

“Philosophy is the struggle against language, that has created bewitchment in knowledge.” Whose
statement is this ?

(A) Carnap (B) Russell
(C) Wittgenstein (D) Schlick

frfefaa o @ forem od wom 97 fag & 1 wama forn 2 fop forefl avg <t oo sweht goaran &
Bl E 7

(A) T (B) T (C) | (D) g

Which one of the following was the first to prove that the existence of any object is not its perception ?
(A) Russell (B) Moore (C) Sartre (D) Husserl
“quidTereh aeaemTET i STauRen fhud Fefid 7 7

(A) &I | (B) T & (C) &t & (D) &M &

The concept of ‘Descriptive Metaphysics’ is associated with whom ?

(A) Strawson (B) Quine (C) Hegel (D) Sartre
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56.

57.

g — | 1 F - 11 Ty guferd L |

T - = -1l
a. g |. <57 g 2reH
b. feriieerga II. 3Tisfeams
c. WA IIl. TretraTheret safecTere
d. EESM Iv. stgT Ug Ffora
= feu U foshedt ® @ w@ W gHT
(A) a=Il, b-lll, c-Iv, d-I
B) a-ll, b—I, c¢c—Il, d-IV
€) a-1ll, b-IV, c—I, d-lI
(D) a—=I, b-ll, c-Iv, d-lI

Match List — | with List — 1.

List -1 List—1I
a. Husserl I. Being and Time
b. Wittgenstein II. ldeas
c. Sartre [ll. Philosophical Investigations
d. Heidegger IV. Being and Nothingness

Choose the correct answer from the code given below :

(A) a=1l, b-ll, c—IV, d-I

B) a—=IlIl, b-l, c—Il, d-1IV

(C) a-1Il, b-1v, c—1, d-ll

(D) a-1, b-Ill, c-1V, d-ll

TRATE] FAMETATE o FHh Sl &

(A) BTSSR B) T

(C) HrehTre (D) I # & Hg T
Philosopher supporting ‘Theistic Existentialism’ is

(A) Heidegger (B) Sartre

(C) Kierkegaard (D) None of the above
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58.

59.

60.

Tt — | 1 g - 11 % Ty gAfAd A |

it -1 -1l
a. 9H |. =T 1 fersRmderar
b. ¥ied Il Sifeaa ar w1 gET 2
c. T . g foers o &9 # wiifoe a&qu
d. g IV. 3TWEETG % &I HAWE
= feu o fyepedt & @ @&l 3w g -
(A) a=1Il, b=, c-1Iv, d-I
B) a=1Il, b-=Iv, c-1l, d-I
(C) a=1, b-1ll, c=1v, d-I
(D) a=1l, b-=1IV, c-=1I, d-I
Match List — | with List — II.
List - | List -1l
a. Sartre I. Intentionality of consciousness
b. Strawson Il. Existence precedes essence
c. Quine [ll. Material bodies as basic particulars
d. Husserl IV. Two dogmas of empiricism
Choose the correct answers from the code given below :
(A) a=1Il, b=, c-1Iv, d-I
B) a=1Il, b-=Iv, c-1Il, d-I
(C) a=1, b-1ll, c=1v, d-I
(D) a=1l, b-1IV, c=1I, d-I
qifeheh TASH p = q I TR T Srar B
(A) (p-9) v (~p.~q) B) (Pva)>(p.a)
(C) (poa9)>(P>0) (D) (pva).(~pv~q)
The logical connective p = q is defined as
(A) (p-9) v (~p.~q) B) (Pva)>(p.a)
(C) (poa9)>(P>0) (D) (pva).(~pv~q)
freferfaa fasrardt fm w1 wderor
(p.a)=~(~pv~q)
(A) T 3FE B (B) I8 € B
(C) Fr IffTerd & (D) IHE § & IS el

Examine the following bi-conditional rule

(p.q)=~(~pv~q)
(A) ltis false (B) ltis true
(C) ltis undetermined (D) None of the above
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61.

62.

63.

64.

65.

foram = o fm &

(A) dTeTcH, FHCIAT dUT SATATd

(B) TG, ST AU AL UNER

(C) =TETd, qefad qUT Arge

(D) TTETeR, SATETT aUT 3MTdTfdeh

The three laws of thoughts are

(A) Identity, Equivalence and Contradiction

(B) Identity, Contradiction and Excluded Middle
(C) Contradiction, Tautology and Identity

(D)

foter = 4 arepfet B &
Number of figures in the categorical syllogism are
(A) 5 (B) 4 € 3 (D) 2

AEE-1 = # it gfed < 2
(A) 3T T IS S (B) 31T HTEA IS S
(C) 37T U IS o (D) ToeTeHes, STTUR T QY

Identity, Contradiction and Contingent

The syllogism AEE-1 commits the fallacy of

(A) Fallacy of undistributed middle (B) Fallacy of illicit major

(C) Fallacy of illicit minor (D) Fallacy of exclusive premises
Ffg ‘A gfasifed o= &1, @ B, | 3R ‘O ufamfcr gt

(A) 3, 9T 3R 3G (B) 3TE, IE I A
(C) |, 3HT 3N 3H (D) T, T N A

If ‘A’ proposition is true, then ‘E’, ‘I’ and ‘O’ propositions would be

(A) False, True and False (B) False, False and False

(C) True, False and False (D) True, True and False

ot = Ut Sgsehivl o AR ‘A’ Td ‘B fawfeadi & qe ffga dew i er S g

(A) faada (B) 39-forudia (C) == (D) 3UIHA

In the traditional square of opposition, the relationship existing between ‘A’ and ‘E’ propositions is
called as

(A) Contrary (B) Sub-contrary (C) Contradictory (D) Subalternation
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66.

67.

68.

““ITUY HT & TR W G 7, €08 TEl |7 3 HYF 1 T 7

(A) gurETe fagea & (B) Fedard fagra @

(C) wfeprardt fagra = (D) 378 | g &

“The proper treatment of a crime is its cure and not punishment.” This statement refers to
(A) Reformative theory (B) Preventive theory

(C) Retributive theory (D) None of these

= Q1 e & T | T 1 HAMHLA (A) TUT G I BRI (R) el T 8 |
arftreRem (A) : fsifoe o STHER @ ww e B |

HROT (R) : AT WUTEd: @ I LT =8l 7 |

He :

(A) (A) 3T (R) gHT T & 3R (R), (A) T TEl SRS LT 8

(B) (A) 3 R)aﬁw%qrﬁ(m,mwﬁ@mwﬁm%

(C) (A)E 8 U (R) TeTd &

(D) (A)TTeTd B T (R) & @

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : According to Sidgwick, pleasure is the ultimate end.
Reason (R) : Man naturally seeks pleasure.

Select the correct answer from the codes given below :

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A) is false but (R) is true

frefafaa § @ S9-31 v I od w9 ° gAfa 7 ¢

(A) S - gfgae

(B) UH - YuidmETe

() fra - 3d: Y§ETg

(D) sh1UC - Ygudiq

Which one of the following pairs is correctly matched ?
(A) Bentham - Rationalism

(B) Green - Perfectionism

(C) Mmil - Intuitionism

(D) Kant - Hedonism
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69.

70.

= @1 o & S & s 1 AR (A) TUT GER W1 HRT (R) HET TR |
e & AR fomm Hifv

aAfireRed (A) : s AT it AYar deba: JHIOG Tl Sl ST Fehal |
HROT(R) : A A W13 bl 1fiveafad gid € |

el feu e e @ T I g

®e:

(A) (A) 3T (R) 3T & & 3T (R), (A) T T AT T 2

(B) () aﬁW%W(R),(A)ﬁHﬁWﬁW%

(C) (A) T % T (R) Terd @

(D) (A)TeTd B g (R) ¥ &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Consider, according to Stevenson :

Assertion (A) : The validity of ethical judgements cannot be logically proved.
Reason (R) : They are merely expression of feelings.

Select the correct answer from the codes given below :

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A) is false but (R) is true

= Q1 e & T @ T 1 HAMHLA (A) TUT G I BRI (R) el T 8 |

ANTHUA (A) : HIUC T AT 8 b == W1 a1 3fae 2 |

HOT(R) : ¢ 7 I8 T Ufquited fhan T =afed 1 wea U araviiy f=m o A & 3T=RoT it
=ME |

= feu M e | T W g

&R

(A) (A) 3T (R) GHT T & 37 (R), (A) I TE AT LT &

(B) (A) 37 R)aﬁw%m(R),(A)aﬁaﬁwﬁaﬂm%

(C) () HeA B W (R) Tefd B

(D) (A)TTeTd B T (R) ¥ B

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Kant is of the opinion that breaking a promise is immoral.

Reason (R) : Kant has propounded the principle that one must always act on a universal law.
Select the correct answer from the codes given below :

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

)
(C) (A)is true but (R) is false
(D) (A)is false but (R) is true
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71.

72.

73.

74.

“OIT A T oIl 7 ; I YAh T W 98 dfedl ¥ Tl g Bl 8 |7 IG HUH TR 7

(A) BH ° (B) &I & (C) ®T&I | (D) HeRrTaett &
“Man is born free; though everywhere he is in chains.” This statement belongs to

(A) Hobbes (B) Locke (C) Rousseau (D) Machiavelli
“off a1 < foTC ThM B |7 I8 wed fhuw Twfyd B ¢

(A) A (B) wed (C) =3 (D) = =
“Religion is the opium of the masses.” This statement is related to whom ?

(A) Lenin (B) Marx (C) Mao (D) Che Guevera

“Tedieh TR TS o TT0 B | TS o foreg 1S =fisl el 2, TS o el is =il 9ei 27|

I e Trferfiad # & ford Torfifoe foem & oR A o a7

(A) T (B) HIEETG (C) |T=IETg (D) TFEAATG
“Everything is for the State. Nothing is against the State and nothing is beyond the State”.

Above statement rejects the essence of which of the following political thought ?
(A) Ram Rajya (B) Fascism (C) Communism (D) Naxalism

= 1 e & FoH @ T 1 AR (A) TUT GER I R (R) el T 8 |

TR (A) : 379 UG H HfGATST I T &3 T Jeul o THM DI THFAT TF ST I 2 |
HRUT (R) : YA 1 TG Afgenadt & qfq fopeft ft TR & Sewma o1 Ny +ar ® |

el fe2t T g2 & wE I R

he:

(A) (A) 3T (R) EFIT & & 3 (R), (A) Sl FEl AT HTal &

(B) (A) 3 (R) GHI & & T (R), (A) H1 HEH SAREAT & hicll &

(O) (A) ¥ & T (R) Terd 2

(D) (A)TeTd @ W (R) & @

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Women in India today legally enjoy equal opportunities with men in all fields.
Reason (R) : The Constitution of India prohibits any kind of discrimination against women.

Select the correct answer from the codes given below :
Codes:

(A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)istrue but (R) is false

(D) (A)is false but (R) is true

Both (A) and (R) are true and (R) is the correct explanation of (A)
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75.

76.

= Q1 U & T & T H1 IANHA (A) TAT TR I HR (R) FHaT TS |
ATTHRYA (A) : SIST Teh HHTISTH TEEAT 2 |
HOT(R) : T Aferes w9 & Fywif gan 2 |
i fe T g2 | W I g
<<
(A) (A) 3R (R) GHI T & 3R (R), (A) 1 el =TT FHTdT
(B) (A) 3 (R)THI | & W] (R), (A) hl Hel AT T&l il @
(C) (A) T 8 W] (R) Toid B
) (A)

(
(
(
(D) (A)TeTd & W (R) ¥ &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : Gender is a social construction.

Reason (R) : Sex is biologically determined.

Select the correct answer from the codes given below :

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) istrue but (R) is false

(D) (A) is false but (R) is true

TEHEHITETG % Y@ W 8 Hohd 8

(A) AT, STEESIAT, W T HE

(B) THAT, AESI[AT, W, HHE 1 3197

(C) rafesuar, Tamar, fafawd & amm

(D) HWHdT, FiESar, a9 wd fafaygar 1 a9

Main pillars of multiculturalism could be

(A) Equality, intolerance, fear and suspicion

(B) Equality, tolerance, fear, absence of understanding

(C) Intolerance, equality, respect of diversity

(D) Equality, tolerance, understanding, respect of diversity
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77. I — 1 G - 11 F1 FATTT L |

et - | gt -l
a. 3918 Td | 3T
b. fir@ v II. 7% Ty HifEe
c. SH o lIl. sTgse
d. o e IV. 3T T
= fqu U foehedt # @ IR g
(A) a=1v, b-lll, c-—I, d—1ll
B) a=1Il, b-=1V, c-ll, d-I
(C) a-1, b-ll, c—1I, d-1IV
(D) a=1Il, b-=1Il, c—=1Vv, d-I
Match List — | with List — II.

List -1 List -l

a. Christianity I. Avesta
b. Sikhism II. Guru Granth Sahib
c. Jainism lll. Bible
d. Zoroastrianism IV. Agam Sutra

Choose the correct answers from the code given below :

(A) a=IV, b-lll, c—I, d—Il
B) a—Il, b-IV, c—ll, d—I
©) a=I, b-ll, c—Il, d-IV
D) a—lll, b—ll, c—IV, d—I

78. “‘aui 7 1 fagi ®, 7 & gyl § 7 € SifgHar §, 77 T @ wyfd 2, I8 A ® |7
ST HUA Tl B

(A) Toeerre & ot g femm @
B) *ft 3nfde & ut gaeft femm &
(C) ieft % wf weeht fomm o
(D) &R & o Feeht fomam @

“Religion is not in doctrines, in dogmas, nor in intellectual argumentation, it is being and becoming, it is
realization.”
Above statement is related with

(A) Religion related thought of Vivekanand

(B) Religion related thought of Sri Aurobindo

(C) Religion related thought of Gandhi
)

(D) Religion related thought of Tagore
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79.

80.

81.

82.

83.

= 9 % 3gER ffafed § @ s v ¥ H fomivar d T R v

(A) i (B) weTerHar

(C) TveE™ (D) Teverea

Which one of the following is not the characteristics of the middle term, according to Nyaya
Philosophy ?

(A) Badhita (B) Paksadharmata

(C) Sapaksasattva (D) Vipaksasattva

dig e o gfed vq e v “Fartor w1 31ef @
(A) ‘I IMT, g Ty s

(B) Teg &

(C) Sfter =1 fmer

(D) ITda § § g TE

Meaning of the term ‘Nirvana’ which is used in Buddhist Philosophy for liberation is
(A) ‘Blowing off’, a stage of cessation from suffering

(B) Death

(C) Negation of life

(D) None of the above

TEE AMTHG G AT A0 8

(A) e = (B) WM =

() foam = (D) TSt &

Yoga popularised by Paramahansa Yoganand is

(A) Bhakti Yoga (B) Gyan Yoga

(C) Kriya Yoga (D) Raj Yoga

fftres wfshanatt # ‘vara-femor 1 @ e S g 7

(A) = (B) fm (C) ST (D) SRR
In Yogic practices, ‘control of breath’ is called by which name ?

(A) Yam (B) Niyam (C) Pranayam (D) Pratyahar

“gg fifcrmmmen fed ITIfiTdreTg 1 ST Hd g 3TakA &9 8 R-Iqaifirdrerel Hfas e /i
I TR L A T W o= +d 87, i el ST 2

(A) e fifcrerme (B) ferifermen

(C) TR ifcrerret (D) ST | & IE T

“The ethics in which transcending the utilitarianism, we tentatively accept non-utilitarian moral ideals/
rules in discussing ethical questions” is called

(A) Normative ethics (B) Metaethics

(C) Applied ethics (D) None of the above
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84.

85.

86.

AT TR TIYA TRt TRIT AT
(A) =T g (B) I g (C) ghUd gr’I
The ‘Lyceum’ school was established by

(A) Plato (B) Aristotle (C) Socrates
AT g3 W07 TR FeAqT AR 7 B

(A) B (B) S (C) &t

‘A moving arrow does not move’ is the view of

(A) Hume (B) Zeno (C) Hegel

41 1 U T IrgeEA | afEd H |
. ettt
II. HT3RTE
Il TS
IV. TeRHE
Hr fou o e § § 3w g
T
(A) 11,1V, 111 B) 1,1V, 1, 1l
©) 111V, | (D) 1, 11l 11, IV
Arrange the following steps in a real sequence.
[. Thales
Il. Pythagoras
[ll. Anaximenes
IV. Anaximander

Choose the correct answer from the codes given below :

Code :
(A) LI v, B) I, Iv, 1,1
(C) 1,1, 1v, 1 (D) 1, 0L, 1, 1v

-27-
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87.

88.

89.

90.

91.

3 HTH® TeeTT H Fehell &, T HTTeh I8 hl WIS Jelell T ol TWehell |’ IE ho Tiferd @
(A) TGy SR | (B) TWEH ANTHS &

(C) . W & (D) <. &, wg=E 4

“Everything else can wait but your search for God cannot wait”. This statement belongs to
(A) Rabindra Nath Tagore (B) Paramahansa Yoganand

(C) J. Krishnamurthy (D) K.C. Battacharya

f=ferfaa @ @ o5 1fieh eifrent 3 wdwem TRaTo] gefa Y oA T oft

(A) TfhuE ud SHifheE A (B) <fT® TS UrEUmIRE A

(C) SFifshed ud Aefrr 3 (D) Srefist e e

Which of the following Greek Philosophers have propounded atomic theory for the first time ?
(A) Leucippus and Democritus (B) Leucippus and Pythagoras

(C) Democritus and Thales (D) Thales and Pythagoras
frerfeifiea # & M U ‘T@ HETew’ 1 W FE g 7

(A) & (B) sfeat (C) @ (D) Fom
Which one of the following is not the part of ‘Das Mahadesh’ ?

(A) Truth (B) Non-violence (C) Tap (D) Niyam
‘a1 g foreeh g wfarfea & 7

(A) =T g3 (B) WA T

() e =i (D) S T

The Principle of ‘Apirva’ has been propounded by

(A) Nyaya Philosophy (B) Samkhya Philosophy

(©) Mimamsa Philosophy (D) Jaina Philosophy

Frefafad 5 9 & s foxghd 1 TR T8 & ?

(A) T GREEER (C) wHTIr (D) Terhed

Which one of the following is not a kind of Cittavrtti ?

(A) Kshipt (B) Viparyaya (C) Pramana (D) Vikalpa
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92.

93.

94.

95.

oft srfoe % ER Freffed § & 99 & faswen 6t Brfaa vl § aftfea = 2 2
(A) forrenton (B) IRl (C) et (D) &=Ll
Which one of the following is not included in the triple process of evolution, according to
Sri Aurobindo ?
(A) Widening (B) Hightening (C) Deepening (D) Integration
fafafed o @ $H T HRa @8Iy H TSR A6 8 7
(A) Hferah (B) Hfem=m (C) 3T S (D) ®Fg
Which one of the following is not a kind of Sampragyata Samadhi ?
(A) Savitarka (B) Savichara (C) Upay pratyaya (D) Sananda
frferian § & fore w B § <hi 91 Sfee @ siadE fn S @ 2
(A) &I (B) Smom ™ (C) TR (D) &ron

In which one of the following kriyas, indriyas (senses) are diverted from extrovert to introvert ?
(A) Dhyana (B) Pranayama (C) Pratyahara (D) Dharana
[y A % T @

a. ot 3wfag

b. YA =R A&

c. W faeepre

d. THEH NG
F o o e § @ w3 g -
(A) I a (B) el aTd b
(C) %I aTd ¢ (D) et d

Integral yoga was propounded by
a. Sri Aurobindo

b. Shyama Charan Labhiri

¢. Swami Vivekanand

d. Paramahansa Yogananda

Choose the correct answers from the options given below :
(A) aonly (B) aandb only
(C) aandconly (D) donly
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96.

97.

98.

99.

100.

Afees fifcromes 61 Fia e 2

(A) Fd (B) I (C) gewTed (D) vt

The central concept of Vedic ethics is

(A) Rta (B) Sanyasa (C) Purusartha (D) Varna
frfefaa & & HH-31 T Wee % date 9 HT I & BT ] ?

(A) o (B) HeM (C) He&hft (D) S

Which one of the following is not the part of Rashdall’s Highest Good ?

(A) Religion (B) Virtue (C) Culture (D) Knowledge
“‘qeATeHe gfe | Hider YA WYk YA T8l Bld; SEIL o 7 A1 §ed Bl & 3R A & 3 |7

39 %o | o e fagia sfaffm e 2
(A) BT (B) TR HI (C) TX W (D) Tosifaes =1

“Factually, moral judgments are not meaningful; therefore they are neither true nor false.” This statement
resembles the ethical theory of

(A) Hegel (B) Ayer (C) Moore (D) Sidgwick
T ATHR YA
(A) HCEETE B (B) TiwTd B (C) 3TqfATT & (D) 3TIEA 7

According to Moore, Good is

(A) Doubtful (B) Definable (C) Undefinable (D) Meaningless

“58 YR R KU TTE8 gl =R 98 R AU S § g A et 3= 4, "eg wer w9 |
yfafssa &1 7 fo Aea w9 1 |7

39 FUA I e A g 2

(A) BTt 1 (B) HT T (C) St (D) T 6

“So act as to treat humanity whether in thine own person or in that of any other always as an end and

never as a means”.

This statement reflects the ethical principle of

(A) Hegel (B) Sartre (C) Bradley (D) Kant
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